
Qch = 2,2 kW

Qgrz = 2,5 kW

Wymiar urządzenia:

900 x 282 x 205 [mm]

Hałas = 24 dB(a)

Waga = 12 kg

Przepływ powietrza = 540 m3/h

Qch = 3,6 kW

Qgrz = 4,0 kW

Wymiar urządzenia:

900 x 282 x 205 [mm]

Hałas = 24 dB(a)

Waga = 12 kg

Przepływ powietrza = 600 m3/h

Qch = 3,6 kW

Qgrz = 4,0 kW

Wymiar urządzenia:

900 x 282 x 205 [mm]

Hałas = 24 dB(a)

Waga = 12 kg

Przepływ powietrza = 600 m3/h

Qch = 3,6 kW

Qgrz = 4,0 kW

Wymiar urządzenia:

900 x 282 x 205 [mm]

Hałas = 24 dB(a)

Waga = 12 kg

Przepływ powietrza = 600 m3/h

CU = Ø15,9 / Ø9,53

CU = Ø15,9 / Ø9,53

CU = Ø12,7/ Ø9,53

CU = Ø12,7/ Ø6,35

CU = Ø12,7/ Ø6,35

CU = Ø12,7/ Ø6,35

CU = Ø9,53 / Ø6,35


